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QUESTION 1

A network architect is planning a guest solution for a group of ports in a conference room. Guests should have access to
the Internet only. The company wants a simple solution and prefers not to burden visitors with login requests. Which
solution would best meet the company\\'s requirements for a gust network? 

A. Place the ports in a black-hole VLAN that is not carried on Switch-to-Switch links. Apply a dynamic VLAN for guests
who pass web authentication to a server that allows MAC registration 

B. Place the guest ports that is allowed access only to the internet. Optionally configure port isolation. 

C. Apply MAC lockdown to the guest ports. Configure switches to place unknown MAC addresses in a VLAN with
access only to the internet 

D. Apply web authentication to the guest ports. Use the built-in guest accounts for HP switches to authenticate the
users 

Correct Answer: A 

 

QUESTION 2

A network architect is working with a customer to implement a new network design. The network architect has learned
that the company has a legacy application hosted on a number of legacy servers. The legacy application must remain
intact and after the new network implementation. As the company plans to continue using it indefinitely. 

With which stakeholder should the network architect discuss the technical detail of the legacy system and any
challenges or specifics about maintaining interoperability? 

A. Chief Executive officer (CEO) 

B. Network Architect or Planning Engineer 

C. Chief Information Officer (CIO) or Voice President (VP)/ Director of IT 

D. Chief Financial Officer (CFO) or Voice President (VP)/ Director of Finance 

Correct Answer: B 

 

QUESTION 3

Refer to the exhibit. 
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The exhibit shows a network with HP 3500 yl Series switches at the access layer and HP 8206 zl switches at the core.
The customer with this solution has logged several support calls, which were eventually tracked down to spanning tree
issues. How can a network architect adjust the solution to prevent the issue in the failure? 

A. Implement BPDU filters on the switch-to-switch links and loop protection edge ports 

B. Connect three or four 3500 y1 switches together in a group. Establish a distributed trunk between two switches in
each group and the core switches 

C. Implement BPDU guard and broadcast suppression on all the switch-to-switch links 

D. Configure distributed Trunking on the two 8200 zl switches at the core. Create a distributed trunk between the core
switches and each 3500 yl switch 

Correct Answer: D 

 

QUESTION 4

A customer has Voice IP (VoIP) phones that support Link Layer Discovery Protocol Media Endpoint Discovery (LLDP-
MED). The phase need to receive their VLAN ID using this protocol. The network architect is proposing HP 5500-48G-
PoE +EI switches. Each user computer connects to the phone, which then connects to the Ethernet jack. LLDP is
enabled on the switch. Each Edge port is trunk port that permits VLAN 10 (the user VLAN) and VLAN 20 (the voice
VLAN). 

Which other setting recommended on the edge port? 

A. The voice VLAN is enabled 

B. The PVID is set to VLAN 20 

C. LLDP Cisco Discovery Protocol (CDP) compliance enabled 

D. The LLDP voice VLAN ID is set to 20 

Correct Answer: D 

 

QUESTION 5

When would a network architect recommend an HP HSR6800 Router for a campus LAN? (Select two) 

A. The HP HSR6800 Router provides routing features at a more attractive price point than a routing switch 
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B. The company wants to implement a Dynamic Virtual Private Network (DVPN) 

C. The HP HSR6800 Router Supports Border Gateway Protocol (BGP), which is unavailable on routing switches 

D. The company needs a routing device that supports extremely large tables 

E. The company requires a large number of 10G connections 

Correct Answer: BD 
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